Electronic Components y
. 6 ¥/ 15 mm

TEZ 051D ¢

high-quality cast resin transformer
for printed circuit boards

TEZ 0,51/D transformer is a 0,5VA model
characterized by a reduced housing height - only
15mm high - with o total dimension of
15x28x33mm. It is made with IPOO protection
grade and thermal class insulation B (130°C).
The maximum ambient temperature allowed for this
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model is 60°C. _rcl | fonght [ widih | height_
TEZ 0,5/D 0,5 60 22 24 19 0,036
. TEZO,51/D 05 60 28 88 15 0,044
TEZ 0,51/D transformer meets the requirements of
TEZ 1,5/D 15 60 28 33 22 0,07
the EN61558-2-1, EN61558-2-4 and EN61558-2-6  [igzvepp 18 w0 28 5 22 oo
standards and has ENEC certyficat. TEZ2,0/D 20 60 28 33 24 0,09
TEZ 2,5/D 2,5 40 28 88 27 0,10
. TEZ 2,6/D 2,5 60 28 33 30 0,12
The most important features of TEZ transformers /
TEZ 3,0/D 3,0 40 28 33 30 0,12
@ vacuum, ’rhree-s’rcge resin pouring TEZ4,0/D 40 60 35 42 29 0,15
M polyurethane resin maintaining thermal N U B N L
. . . . TEZ 6,0/D 6,0 60 38 45 32 0,20
microplasticity throughout the product's life /
h' h h |: F h . d_ h TEZ 10,0/D 10,0 60 44 52 35 0,28
B high heat transter from the windings to the S on en @ o p Sy
environment TEZ20,0/D 200 60 538 636 472 0,60
W three-stage quality control of each TZ220/D 220 60 473 564 474 055
frcnsformer TEZ 25,0/D 25,0 60 53,8 63,6 51,5 0,70
- Short |eod Hmes TEZ 30,0/D 30,0 60 53,8 63,6 56,5 0,80
. . TEZ 40,0/D 40,0 60 61 70 50 0,80
B production of small series and non-standard

TEZ 50,0/D 50,0 60 61 70 61 1,00
products (according to customer parameters) ~ clor Ay
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An example of a simplified algorithm for selecting a transformer for a system with a linear stabilizer:

AUS
T - transformer
0 -in an idle state
STAB - S - stabilizer
® N - nominal value
o A -increase, decrease, scope
> out - output
AC Ua Us § U - voltage [V]
power supply T lpggss PR —1_ oz | - current [A]
network S - apparent power [VA]
C Us - P - active power [W]
U m=1 Ucen lsn
ITN m=2 AUSmin
STN AUSmux
UTO APSN
Selection of a low-power transformer. S f U
, TYPE iy o X x=—L
1. Determine Us, |0, [VA] [°C] U
2. Choose a stabilizer, read its Isy (Isn = 1hou) TEZO,5 0,5 60B 1,7
3. Read its aUsy, , 4Psy TEZ 0,51 0,5 608 1,6
4. Calculate Uy, = Ug + aUg i TEZ 15 15 50B 16
L]JL:T 0,65 TEZ2,0 | 20 608 1,5
5. Calculate Uryin = W TEZ 2,6 2,5 60B 1,8
TEZ 3,0 3,0 60B 1,7
6. Select voltage Ury from the catalog (U 2 Upymin) TEZ 40 40 40B 14
7. Calculate the power of the transformer S; = ke * (Ugy - m*0,65)* 1,41 * o — 6:0 6:0 50B ]:4
8. Select the transformer power from the catalog Sty = S; 57 10.0 00 50B 13
9. Determine the voltage Uy, (see the table) Urg = Uy *x (x from the table for Sqy) d d d
10. Calculate the voltage Uy oy in point A Uppax = (1,122* U -m*0,65)* 1,41 TEZ 16,0 16,0 608 1,3
11. Check whether the stabilizer meets the requirements: TEZ 20,0 20,0 60B 1,2
AUsmax > Uamax - Us TEZ250 | 250 60B 1,2
8PN > (Unmax - Us) *Inou TEZ30,0 | 30,0 60B 1,2
12. If it does not meet the requirements, choose a stronger stabilizer
13. If it meets the req., calculate the capacity C, determine the capacitor voltage
4
10
U > 1,2 Uppe  ClpFlm—— s
CN A [pF] AU, V] o
14. Build the system and proceed to actual tests, specifying the temperature
increases of the windings. AC
power
] o ] supply
ATTENTION! Remember that calculations are always an approximation of reality. s iy
In the case of an endless algorithm loop, choose the most reasonable set of
elements and proceed to actual testing. o
Ul thermal Utomax = Uro™ 1,122
4 bending Utmin = Uiy *0,878
Utomax " PR m=2
iy Inv = Stv/Una T — e o 3
o o -+
U tolerance of the power : 1
supply network £10% AC power : 1
_____ supply |
network [ |
Uy (cmocoo=o= N } gear tolerance 2% ! |
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: Developed by MSc Eng. Krzysztof Majewski
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